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Lab 2 — Phase sequence determination

How to find a sequence of Phase (ABC, ACB) when there is no marking

Use unbalanced load situation

A Phase A
D Phase B
C Phase C
SRR PHASE=-120 PHASE=120
120 17) 120 (™} 120 {7}
| i |
9 ) |

Balanced Source

Van, Vbn, Vcn

Van+Vbn+Vcn =0
C

Unlabalnced Load

Balanced Line-to-Line Voltage
Vab Vbc Vca

Unbalanced Line-to-point voltage
Vao, Vbo, Vco

Vao + Vbo + Vco =\=0
la+lb+Ilc=0
So there is voltage developed
between n and o
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Lab 2 — Phase sequence determination

How to find a sequence of Phase (ABC, ACB) when there is no marking

Use unbalanced load situation

A Phase A A
6 Phase B B - 7
C Co: - b
] PHASE=_120| PHASE=120 100L. R24  300L R25
1 vz V3 &= = '
120 (") 20 (™) 120 () Su- | |
[ |
-
I n (o)

270 20

arg(Van) , arg{Vin) , arg(Ven) , arg(Von)

arg(Van) . arg(Vbn) , arg(Ven) , arg( Von)

AO > BO

Pras argucr B
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Lab 2 — Phase Sequence Determination

Phase A

PHASE=D
W1

120 @

PHASE=-120

Phase B

W2

120 @

120 @

Phase C

PHASE=120 300= R24 300> RZ5
W3

o I{R27) -

18ms
I{R25)

208ms
I{R24)




Lab 2 — Phase Sequence Determination

Phase A

Phase B

Phase C ﬁ
PHASE=0 PHASE=-120 PHASE=120 300 R24 - 300 Rz25

V1 V2 V3 C3 —

18ms 2 8ms
x —I{C3)Y ~ I{R25) I{R24) + I({R2%)




Lab 2 — Exp Part

FIIWER SUPPLY
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Lab 2 — Exp Part 2

POWER SUPPLY

POWER

1208V = 15 A

1

24V -3 A -AC

WARNING
DO ROT LEAVE THE ESLS
UNDER POWER WHEN Ll






